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Find the coordinate of the vertex of the following quadratic function. Find the axis of symmetry for the following quadratic function.
avEw bA D avEw bAED
i [ i [ #H
Oy=—x*+1 Dy=—2x2+ 2 Dy=—x>+1 Dy=-2x2+ 2
(0,7) X =0
@y=2(x—1)? @y =(x — 2 @y=2(x— 1) @y =(x — 2)?
(7,0) x =7
@y=2(x+1)2%—2 @y=(x+2?2—-1 @y=2(x+ 12— 2 @y=(x+ 22—
(—7,—2) X =7
ek L oEdcuLe L
wD 1Y 2 2\ %ﬁ@% 72 Z VY, Solve the following linear equation. | 5. /j’(@ ﬁ: %{lﬂ‘vﬂﬁ‘f_'ﬁ— 2 /kl%é%z%;k&) 5,
PR P, Find a quadratic function that satisfies the following conditions.
& [l & noEn e tB
N — N E — ]
0= al2— 12— 2 0—a(0— 1+ 2 5 R dh s 1@!@@ 2(0,-2),(8,1)% %,
Axis of symmetry is x=1 and pass through (0, —2), (3, 1)
< L /J/VTQ
y=a (x ~/)2+ q L5,
— Th LB
I=a-—2 (0, =2 )@BHmS
9= _7)?
a—2 =0 2=al0 —7)*+ q
—2=Qa + q . .@
Th B
a=0+2=_2_ 2(3,7 )e@sms
=a(3 —7)+ q
SF  Lroua N Y R _ ..
Ko & T 2 ki E ko k., I=ratyq @ |
Find a quadratic function that satisfies the following conditions. @*@iy), / ;=4 a+ q)
ALY b5 Th Th e *) —2 = a+gq]
wEE EAan(1, —2)ca(2,0)x@E 5, 3 —3 g
Vertex is (1, —2) and pass through (2, 0). b C BAT S
o . @ =/,9=—3xY, RHB2R ARG
B &4 M — 7
B a7, -2 ) chrns, Rwslk At y=(X —/Y—3 .
y=ale—/)—2 e5 FRE By = 2ThH Y, 24(0,2), (3, —1)2W%
Th LB =] Sx - N N SN —1 L o
22,0 )@
0=a(2—7)"—2
o= a —2 LT a =2
b RIS
Kz2xBkE y=2 (x —7)*—2
bAL HErHTh Th LB
M 1| A (1,2)ca(0,0)2W B,

V)
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Find the coordinate of the vertex of the following quadratic function. Find the axis of symmetry for the following quadratic function.
avEw bA D A En bAED
i it R i [ #H
Dy=—x>—3 Dy=—2x2+1 Dy=3x>+1 Dy=2x24+ 2
(0,—-3) X =0
@y=2(x + 1) @y =(x + 2)? @y=2(x — 5?2 @y =(x — 4)2
(—7,0) X =5
@y=—(x+1?+4 @y=—(—22+5 @y=2(x+ 3?2+ 4 @y=(x+2?2—
(—7,4) X =3
k-4 L E5 Tl &
2. KD 17 2 2\ %ﬁ@% 7pE N, Solve the following linear equation. | 5. /j’(@ ’qu%{lﬂ‘vﬁfx_'a— 2 /kl%é%z%;k&) 5,
PR P, Find a quadratic function that satisfies the following conditions.
& [l & noEn e tB
35— a(l—22+4 l—a(2— 37+ 2 151 K& $M>x=1fz§>0,2m(0 3),(3,9)% %,
Axis of symmetry is x=1 and pass through (0, 3), (3, 9)
L »ATH
3= ax/+4 ﬁd?i)\x =/THHMS, 1‘\&7520\ B % #
y=alx —7)*+ qrsi
— Th LB
i=axt4 2(0,3)E@505
_ )2
a4 =3 s=al0 —/)'+q
3=a + q @
Th B
a=3—4=_—1_ 23,9 )x@ans
9=a(3 —/)+ ¢
3. ko & it 2 kB E ko X i=tatq O
Find a quadratic function that satisfies the following conditions. ®*®C}:U’ / 9 =4 a+ q
AL EN BE5 T L *) 3 = a+q
il TE (2, 4)1%(1,3)&@60 b —3 a
Vertex is (2, 4) and pass through (1, 3). b L hATS
a —=2,9 =7 «u, Kod2xE %
brsTh be YIRS
B AEN(2,4 ) chEns, RpB2R B KE y=2 (6 — 1) +7 cas,
y=alx —2)+4 s bA LN L Tk Lo
< ( M) HEE hox =2Tho, 24(0,-3),(1,0)x#E%,
27,3 )e@zns
3= a(7—2)*+4
3= a +4 LEm-T a=—7
b C AT
Rwzp2xBHa y=—(—21>24+4
bALL HrHTA Th LB
HEE T S(3,2)Ta(2, 1)@ S,
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Find the coordinate of the vertex of the following quadratic function. Find the axis of symmetry for the following quadratic function.
avEw bAEN e En b AT
i it R i [ #H
Oy=—x>—2 Oy=-2x*+4 Oy=—x>—2 Oy=-—2a>—4
=2(9c—3)2 @y =(x — 4)? @y=2(x — 3?2 @y =(x — 4)2
=2(x — )2+3 @y=(x—22+5 @y=2(x— 12+ 3 @y=@x—22+5
ek L oEdcuLe L
WD 1Y 2 %ﬁ@% 72 Z VY, Solve the following linear equation. | 5. /j’(@ ﬁ: %{lﬂ‘vﬂf -9 2 /k Fﬁl’gﬁ e ;k&) 5,
I, P, Find a quadratic function that satisfies the following conditions.
& [l & noEn e tB
x=17T s i# 5
0=a(3— 12— 4 0= a0 —2°+s 5 RE A 1?3@@ 2 (0,5),(3,11)%:__5
Axis of symmetry is x=1 and pass through (0, 5), (3, 11)
L »ATH
0= ax 4 —14 %#x—Jfﬁéﬂb ﬁbéh&ﬁ&%
y=alx —7)+ gL
i=ra—4 w0, 5 )emsns
— AV
ya —u =a(0 —/)+q
s—a+q O
Th B
a=7 (3,71 )e@BMS
7=a(3 =)+ q
o & il 2 ks ko X, f=tat+tq Q@
Find a quadratic function that satisfies the following conditions. @ — @O}:V)’ / 7 =4 a-+ q
ROE Br5TA <k v5 { 4*) 5= a+4q
wiE T AN (1, —4)THE(3,0)E@ B, b =3 a
Vertex is (1, —4) and passe through (3, 0). b PRE VIR )
a =2,q =3 u"), RdHod2R B $Hl

L »ATH

B a7, 1) chBes, BBk BiE

&k
5(3,0)s@505
0=a(3—7)"—u
0=4 a —4

L

&5

L AT
2R %

Aoy c*

[

&y =

LEn-T

*4 kj5<o

a =/

(x —7)*—«

b HE5ThA

Th
N TE A (2, 8)T

(0,0)% 5.

y =2 (x —7)2+3 cnn,

bAEW LKL Th

LB
N wasx=2TdHv, 24(0,9),(3,6)% W%,

V)
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1. KD Kz d 2REAKE KD X, 2. WD FMHE2d 2REHEERD X,
Find a quadratic function that satisfies the following conditions. Find a quadratic function that satisfies the following conditions.
av Th B av Th LB
sl 3 4(0,0),(1,—1),(3,3)% W5, i 34(1,-1),(20)(33)x W5,
Pass through (0, 0), (1, —1), (3, 3). Pass through (1, —1), (2, 0), (3, 3).
b LA T b YR
KoOD2EHEy=ax2+ bx+ ctBL, KD 2WEHEAEy=ax2+ bx+ ctBL,
Th ] Th LB
A(0,0)%58 2 5 A1, —1)z®@am5 —1= ax12+ bx1+c
0= ax02+ bx0+c Soe=20 a+b+e =—1 -0
Th \kis Th éis
AL —1)xEs 05 A(2,0)282505 0=ax22+ bx2+ ¢
—1=ax12+bx1+c¢ SLatb=-1 4a+2b+c=0 @
Th ] Th LB
A(3,3)%E 55 A(3,3)%E5M5 3=ax32+bx3+ ¢
3=ax32+bx3+ ¢ S.9a+3b=3 9a+3b+c=3 -
nNAY2IE)> THLE e & J— —
o 5'5“{93132—135’%“ @-0Okv 3a+tb=1
@—@xVY 5a+b= 3
3a+3b_ —3 ) a=1 :h/ugjiﬁ’fgté 3a+b 1 aﬁ
~) 9a+3b= 3 e HEI{5a+b—3 ERES
—6a = —6 b =—2
. s 3at+b= 1 a= 1
Lo, kD 2w B =) b5a+b= 3 b=—2
P . —2a = -2 c= 0
. b N
L7emo7T, KD 2REEKIX
LA EN Th L
M 34(0,0),(1,1),(8 —3)%Wm5, y=2a2—2x
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1. kD 5 143%{?571?2&%5%(%:}2&); 2. kD % %{?Etﬁ‘kaEé%I%:k&bJ:
Find a quadratic function that satisfies the following conditions. Find a quadratic function that satisfies the following conditions.
v En Th LB v En Th LB
i 345(00),(1,—-2),(3,6)xiE%, mEE 35(1,2),(2,1),(38,—2)xW5,
Pass through (0, 0), (1, —2), (3, 6). Pass through (1, 2), (2, 1), (3, —2).
b L AT 9 b C AT
KoOD2EHEEy=ax2+ bx+ ctBL, *@éZﬁEﬁ%X%y—axZ—i— bx+ cé B,
Th IS Th
#(0,0) %58 % 5 B(1,2)%5 7m0 2= ax12+ bx1+c
0= ax02+bx0+ ¢ Soce=0 atb+tc =2 @
Th \kis Th éis
A1, —2)&E5 05 A2, 1)@ 1=ax22 +bx2+ ¢
—2=ax12+bx1+c “a+t b=-2 4a+2b+c=1 @
Th éis Th éis
#(8,6)%E5H 5 A(3,—2)%@E5»nb —2=ax32+ bx3+ ¢
6=ax32+bx3+c “9a+3b=6 9a+3b+c=—-2 -0
nAvoIEH T — & J— —
{0 )T eme OTWEY et =
@—@&DY 5a +b=-—3
3a+3b= —6 | a=2 GeopE il (3 b= —1 &
' —) 9a+3b= 6 | J&iﬁ“ﬁ“{wﬂtb——?) EM<e
. —6a = —12 |/ b=—4
) b AT dat+b= —1 a=-1
Lz oT, Kb 2w Bk ' —) b5a+b= -3 b= 2
y:2x2—4x \ —2a = 2 c= 1
L AT 9
LimoT, Ribs 2 kil
baZn Th Lk
i 35(0,0),(1,1),(—1,4)%%, y=—a2+2x+ 1
HATL Th LB
firE 345(—1,0),(1,0),(2,—3)%m%.
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Find a quadratic function that satisfies the following conditions. Find a quadratic function that satisfies the following conditions.
av Th rp av Th S
i 3.45(0,2),(1,5),(212)% W5, i 345(1,0),(2,1),(3,4)2m%,
Pass through (0, 2), (1, 5), (2, 12). Pass through (1, 0), (2, 1), (3, 4).
b LA T b vobA T
KoOD2EHEy=ax2+ bx+ ctBL, *@éZﬁEﬁ%X%y—axZ—i— bx+ cé B,
Th ] Th
#(0,2)%85 55 A(1,0)2ma M6 0= ax12+ bx1 + ¢
2= ax02+ bx0+c c= 2 at+b+ec =0 -0
Th éis Th éis
AL 5)&ED 05 A2, 1)&@5700 1=ax22 +bx2+ ¢
b=ax12+ bx1+ ¢ “a+b=3 4a+2b+tc=1 @
Th B Th LB
#(2,12)% % 05 S(8,4)5 @500 4=ax32+ bx3+ ¢
12=ax22+ bx2+ ¢ “4a+2b=10 9a +3b+c=4 ---Q
AADDIED T LE ’ — =
Y %I‘{ggigz ?0 e @-0Okv 3a+tb=1
@—@xVY 5a+b=3
4a+ 4b = 12 b=1 Bl DR T L 3a +b=1 3
) 4a+2b=_10 @‘ﬁ”{5a+b—3 ERES
2b = 2 a =2
- Sa+b= 1 a=1
LimoT, Ribs 2 kM ' —) b5a+b= 3 b=—2
y=2x24+ x+ 2 “ —2a - 72 ¢= 1
v oph T
L7 »> T, *@éZ/ﬁ”@
LA EN Th rp
i 35(0,3),(1,5),(2,13)% W%, y=x2—2x+ 1




